Solutions for Class 7 Maths Chapter 10 §lSid SsI®b
Ex 10.2

Y 1.
gfe m =2 8, A Fufafad & 79 31d S -
(iym-2

Bd:

S m =2,

m-2=2-2=0

(i) 3m - 5

Bd:

3m-5=3%x2-5=6-5=1

(i) 9 - 5m

=

9-5m=9-5x2=9-10=-1

(iv) 3m?2-2m -7

Bl
3m?-2m-7=3(2)?-2(2)-7
=3(4)-4-7

=12-11=1

(v) 5m22" -4
Bd:

5% 2

5m27" - 4=5x2222 -4=5-4=1

Ty 2.

gfe p = - 2 8, I Fyfead & 9 31d S
(i) 4p +7

Bd:

Gl’&’p=-2,?ﬁ

Ap+T7=4(-2)+7
=-8+7=-1



(i)-3p+4p+7
Bd:

-3p-+4p +7
=-3(-2)-+4(-2)+7
=-3(4)-8+7
=-12-1=-13

(iii) - 2p3 - 3p? +4p + 7

Bd:

-2p®-3p? +4p +7
=-2(-2)3-3(-2)%+4(-2)+ 7
=-2(-8)-3(4)-8+7
=16-12-8+7
=23-20=3

Uy 3.

foferRad it & AT J1d HIE, T x=-18 :
(i)2x-7

Bd:

Sqx=-1,dl

2x-7=2(-1)-7=-2-7=-9

(i)-x+2

IS
-x+2=-(-1)+2
=1+2=3

(i) X2 + 2x + 1

Bal:
X2H+2x+1=(-12+2(-1)+1
=1-2+1=2-2=0

(iv) 2x% - x - 2

Bd:

2x2-x-2=2(-1)2-(-1)-2

=2(1)+1-2

=2+1-2=1

Uy 4.

Ife a =2 3R b =-2 3, d FHufaRad & 9= 3@ ST
(i) a% + b?

=

\_7|aa=2,b='2,(_-ﬁ



(i) @ + ab + b?

Bl

a? + ab + b?

= (2)% + (2)(-2) + (-2)2
=4-4+4=4

(i) @2 - b?

Bl
a’-b%=(2)*- (-2
=4-4=0

U4 5.
Sda=03Rb=-1%g,dl iU gu Dl & HMH F1d HITOT :
(i) 2a + 2b

Bl

Sda=0b=-1,dl

2a+20=0+2(-1)=-2

(i) 2a® + b? + 1

Bl
2a°+b2+1=0+(-1)% + 1
=1+1=2

(iii) 2ab + 2ab? + ab
Bd:
2ab +2ab?+ab=0+0+0=0

(iv)a®+ab + 2

Bcl:
a?+ab+2=0+0+2=2
UH 6.

T SoTch| T TR BT qUT 59 HI JTd BITOY, ST x BTHAM 2 8 -
(i) x + 7 + 4(x - 5)

Bd:
X+7+4(x-5)
=x+7+4x-20

= (x + 4x) + (7 - 20)



=5x-13
x=2T‘@|e[tR,
5x-13=5(2)-13=10-13=-3

(ii)3(x+2)+5x-7

Bdl:
3(x+2)+5x-7=3x+6+5x-7
=(38x+5x)+(6-7)

=8x-1

x=2T@|ﬁtR,
8x-1=8(2)-1=16-1=15

(iii) 6x + 5(x - 2)
Bd:

X + 5(x - 2)

=6x +5x-10 = 11x - 10

x = 2 T I,
11x=10=11%x2-10=22-10=12

(iv) 4(2x - 1) + 3x + 11
Bd:

4(2x - 1) + 3x + 11
=8x-4+3x+ 11
=(B8x+3x)+ (-4 +11)
= 11X+ 7 x = 2 TWA IR,
Mx+7=11%x2+7
=22+7=29

Y 7.

T o] Dl TR BT TUT 37 A JTd BIT, T x =3, a=-1 3R b =-2:
(i)3x-5-x+9

Bd:

3X-5-x+9=2x+4

x = 33T I,

2x+4=2(3)+4=6+4=10

(i)2-8x+4x+4

Bl

2-8x+4x+4=06-4x

x = 3 3@ |,
6-4x=6-4(3)=6-12=-6



(ii)3a+5-8a+1

Bd:

3a+5-8a+1=-5a+6
a=-1weftl?,
5a+6=-5-1)+6=5+6="11

(iv) 10 - 3b - 4 -5b
Bd:

10-3b-4-5b=6-8b

b =-2 3@ W,
6-8b=6-8(-2)=6+16 = 22

(V)2a-2b-4-5+a.

Bd:
2a-2b-4-5+a=3a-2b-9
a=-1b=-23WIR,

3a-2b-9=3(-1)-2(-2)-9
=.3+4-9=-12+4=-8

% 8.
()afe2=10%, @ 3 - 3(z - 10) BT HF I1d S|
Bdl:

Sz =10, A 73 - 3(z - 10)

= (10)3 - 3(10 - 10) = 1000 - 3(0)

= 1000 - 0 = 1000
()T p=-108, @ p - 2p - 100 HT HH F1d BT
Eﬂ'.

S p =-10,dl p2-2p - 100
= (- 10)2 - 2(- 10) - 100
=100 + 20 - 100 = 20

Y9,

IR x =0 W 2x2 + x - a BT AM 15 P R §, dl a BT A HT g ATgT?
Bd:

x=0W2x2+x-a=5(RATB)

i, 2(0)+0-a=5
Jqo+0-a=5
gl-a=5

la=-5



T 10.

TSP 2(a2 + ab) + 3 - ab DI TA BT 3R FTHT A J1d HIVY, Sl a=53MRb=-3
gl

Bd:

Sga=53Rb=-3,d
2(@+ab)+3-ab
=2a2+2ab+3-ab
=2a2+ab+3
a=5,b=-3 3@ IR,
2a°+ab+3=2(5)2%+ (5)(-3)+3
=2x25-15+3
=50-15+3=238






